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[bookmark: OLE_LINK4][bookmark: OLE_LINK5]Figure S1 Average (a) effective reproduction number (Rproxy), (b) infection rate (IR), and (c) compound growth (CG) of coronavirus disease 2019 (COVID-19) and average (d) temperature (AT) and (e) atmospheric pressure (AAP) at county level for 24 days within the period under investigation. (f) Population density (PD).
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Figure S2 The 24-day average effective reproduction number (Rproxy), infection rate (IR), and compound growth (CG) of coronavirus disease 2019 (COVID-19) plotted as a function of average temperature (AT)(a, f, k), average absolute humidity (AAH)(b, j, i), average atmospheric pressure (AAP)(c, h, m), latitude (d, i, n), and population density (PD)(e, j, o) at the county level.

Table S1 Statistics table for univariate linear and quadratic regression models of compound growth rate (CG) of coronavirus disease 2019 (COVID-19) at county level for 17 days within the period under investigation.
[image: ]
Table S2 Statistics table for univariate linear and quadratic regression models of infection rate (IR) of coronavirus disease 2019 (COVID-19) at county level for 17 days within the period under investigation.
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Table S3 Statistics table for univariate linear and quadratic regression models of effective reproduction number (Rproxy) of coronavirus disease 2019 (COVID-19) at county level for 24 days within the period under investigation.
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Table S4 24 Statistics table for univariate linear and quadratic regression models of compound growth rate (CG) of coronavirus disease 2019 (COVID-19) at county level for 24 days within the period under investigation.
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Table S5 Statistics table for univariate linear and quadratic regression models of infection rate (IR) of coronavirus disease 2019 (COVID-19) at county level for 24 days within the period under investigation.
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Table S6 Statistics table for univariate linear and quadratic regression models of effective reproduction number (Rproxy) of coronavirus disease 2019 (COVID-19) at county level for 31 days within the period under investigation.
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Table S7 Statistics table for univariate linear and quadratic regression models of compound growth rate (CG) of coronavirus disease 2019 (COVID-19) at county level for 31 days within the period under investigation.
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Table S8 Statistics table for univariate linear and quadratic regression models of infection rate (IR) of coronavirus disease 2019 (COVID-19) at county level for 31 days within the period under investigation.
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Table S9 Statistics table for stepwise multiple regression models of average (a) effective reproduction number (Rproxy), (b) compound growth (CG), and (c) infection rate (IR) of coronavirus disease 2019 (COVID-19) at the county level for 24 days within the period under investigation.
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Table S10 Statistics table for stepwise multiple regression models of average (a) effective reproduction number (Rproxy), (b) compound growth (CG), and (c) infection rate (IR) of coronavirus disease 2019 (COVID-19) at the county level for 31 days within the period under investigation.
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298)

71.016

***

 (df =

1; 299)

39.297

***

 (df =

2; 298)

Note:

*

p<0.1; 

**

p<0.05; 

***

p<0.01


image9.emf
Dependent variable:

CG
(D () (3) 4) @) (6) (7) (8) 9) (10)
AT 0.132™ 0.173™
(0.057) (0.068)
AT? 0.064
(0.056)
Lat 0.063 0.043
(0.057) (0.057)
Lar® -0.084™
(0.036)
AAP 0.028 0.027
(0.057) (0.060)
AAP? 0.003
(0.043)
AAH -0.094 -0.190™"
(0.057) (0.088)
AAH? 0.079
(0.055)
log(PD) 0.554"" 0.606"""
(0.048) (0.048)
log(PD?) 0.118"
(0.028)
Constant 0.000 -0.064 0.000 0.084 0.000 -0.003 0.000 -0.079 0.000 0.118**
(0.057) (0.080) (0.057) (0.067) (0.057) (0.072) (0.057) (0.079) (0.048) (0.054)
Observations 306 306 306 306 306 306 306 306 306 306
R2 0.017 0.021 0.004 0.022 0.001 0.001 0.009 0.015 0.307 0.346
Adjusted R? 0.014 0.015 0.001 0.015 -0.002 -0.006 0.006 0.009 0.305 0.342
Residual Std. Error 0°993(3)§f - 0°993(2)§§1f = 1 .ogggf - 0°993(2)§§1f = 1 'Ogégf = .ogggf - 09%5? - 0'9283(51f T 0.834(df=304) 0.811 (df = 303)

F Statistic

5355 (df=1;3.325" (df=2; 1219 (df = 1; 3.342™" (df =2; 0.242 (df = 1; 0.124 (df =2; 2.701 (df = 1; 2.375" (df =2; 134.955 " (df =

304)

303)

304)

303) 304)

303)

304)

303)

1: 304)

80.156

keksk

2: 303)

Note:

“p<0.1; “p<0.05; “p<0.01

df =









Dependent variable:

CG

(1) (2) (3) (4) (5) (6) (7) (8) (9) (10)

AT

-0.132

**

-0.173

**

(0.057) (0.068)

AT

2

0.064

(0.056)

Lat 0.063 0.043

(0.057) (0.057)

Lat

2

-0.084

**

(0.036)

AAP 0.028 0.027

(0.057) (0.060)

AAP

2

0.003

(0.043)

AAH -0.094

-0.190

**

(0.057) (0.088)

AAH

2

0.079

(0.055)

log(PD)

0.554

***

0.606

***

(0.048) (0.048)

log(PD

2

)

0.118

***

(0.028)

Constant 0.000 -0.064 0.000 0.084 0.000 -0.003 0.000 -0.079 0.000

-0.118

**

(0.057) (0.080) (0.057) (0.067) (0.057) (0.072) (0.057) (0.079) (0.048) (0.054)

Observations 306 306 306 306 306 306 306 306 306 306

R

2

0.017 0.021 0.004 0.022 0.001 0.001 0.009 0.015 0.307 0.346

Adjusted R

2

0.014 0.015 0.001 0.015 -0.002 -0.006 0.006 0.009 0.305 0.342

Residual Std. Error

0.993 (df =

304)

0.992 (df =

303)

1.000 (df =

304)

0.992 (df =

303)

1.001 (df =

304)

1.003 (df =

303)

0.997 (df =

304)

0.996 (df =

303)

0.834 (df = 304) 0.811 (df = 303)

F Statistic

5.355

**

 (df = 1;

304)

3.325

**

 (df = 2;

303)

1.219 (df = 1;

304)

3.342

**

 (df = 2;

303)

0.242 (df = 1;

304)

0.124 (df = 2;

303)

2.701 (df = 1;

304)

2.375

*

 (df = 2;

303)

134.955

***

 (df =

1; 304)

80.156

***

 (df =

2; 303)

Note:

*

p<0.1; 

**

p<0.05; 

***

p<0.01


image10.emf
Dependent variable:

IR
(D (2) 3) 4) &) (6) (7) ) ) (10)
AT 0.136™" 0.192°
(0.057) (0.067)
AT? 0.086
(0.056)
Lat 0.098" 0.084
(0.057) (0.057)
Lar® 0.061"
(0.036)
AAP -0.033 0.018
(0.057) (0.059)
AAP? -0.040
(0.043)
AAH -0.096" -0.233"
(0.057) (0.088)
AAH? 0.113"
(0.055)
log(PD) 0.004 0.081
(0.057) (0.057)
log(PD?) 0.177°
(0.033)
Constant 0.000 -0.086 -0.000 0.061 0.000 0.040 0.000 0.112 0.000 01775
(0.057) (0.079) (0.057) (0.067) (0.057) (0.072) (0.057) (0.079) (0.057) (0.064)
Observations 307 307 307 307 307 307 307 307 307 307
R2 0.018 0.026 0.010 0.019 0.001 0.004 0.009 0.023 0.00002 0.087
Adjusted R 0.015 0.020 0.006 0.013 -0.002 -0.003 0.006 0.016 -0.003 0.081
Residual Std. Error 0.92% 5(§1f = 0.92(()) glf = 0.9% 5(§lf = 0.9245 i;if = 1 .og a 5(§1f = 1 .og %) gf = 0.922) 5(§1f = 0.92% gf = 1 .og%) 5(§lf = 0.959 (df = 304)

F Statistic

5.724™ (df = 1; 4060 (df = 2; 2.973" (df = 1; 2.938" (df =2; 0.331 (df = 1;

305) 304) 305)

304) 305)

0.601 (df =2; 2.819" (df = 1; 3.537 (df=2; 0.005 (df =1; 14.492""" (df =

304) 305)

304) 305)

2: 304)

Note:

“p<0.1; p<0.05; " p<0.01









Dependent variable:

IR

(1) (2) (3) (4) (5) (6) (7) (8) (9) (10)

AT

-0.136

**

-0.192

***

(0.057) (0.067)

AT

2

0.086

(0.056)

Lat

0.098

*

0.084

(0.057) (0.057)

Lat

2

-0.061

*

(0.036)

AAP -0.033 -0.018

(0.057) (0.059)

AAP

2

-0.040

(0.043)

AAH

-0.096

*

-0.233

***

(0.057) (0.088)

AAH

2

0.113

**

(0.055)

log(PD) 0.004 0.081

(0.057) (0.057)

log(PD

2

)

0.177

***

(0.033)

Constant 0.000 -0.086 -0.000 0.061 0.000 0.040 0.000 -0.112 0.000

-0.177

***

(0.057) (0.079) (0.057) (0.067) (0.057) (0.072) (0.057) (0.079) (0.057) (0.064)

Observations 307 307 307 307 307 307 307 307 307 307

R

2

0.018 0.026 0.010 0.019 0.001 0.004 0.009 0.023 0.00002 0.087

Adjusted R

2

0.015 0.020 0.006 0.013 -0.002 -0.003 0.006 0.016 -0.003 0.081

Residual Std. Error

0.992 (df =

305)

0.990 (df =

304)

0.997 (df =

305)

0.994 (df =

304)

1.001 (df =

305)

1.001 (df =

304)

0.997 (df =

305)

0.992 (df =

304)

1.002 (df =

305)

0.959 (df = 304)

F Statistic

5.724

**

 (df = 1;

305)

4.060

**

 (df = 2;

304)

2.973

*

 (df = 1;

305)

2.938

*

 (df = 2;

304)

0.331 (df = 1;

305)

0.601 (df = 2;

304)

2.819

*

 (df = 1;

305)

3.537

**

 (df = 2;

304)

0.005 (df = 1;

305)

14.492

***

 (df =

2; 304)

Note:

*

p<0.1; 

**

p<0.05; 

***

p<0.01


image11.emf
Dependent variable:

o CG IR
(1) (2) (3)
AT? 0.174™** 0.085
(0.051) (0.056)
Lat 0303%"*
(0.105)
Laf® 0.102° 00767 0.152°
(0.030) (0.027) (0.037)
AAP 0.132°" 0.092™"
(0.043) (0.042)
AAP? 0.165""" 0.070"
(0.025) (0.023)
AAH 0.160™" 0284
(0.050) (0.110)
log(PD) 0.334™ 0.541° 0.123™
(0.041) (0.037) (0.043)
log(PD?) 0.081°"" 0.134""* 0.245%"
(0.026) (0.023) (0.027)
Constant -0.145™ 03017 01777
(0.060) (0.060) (0.068)
Observations 473 487 488
R2 0.257 0.385 0.173
Adjusted R? 0.249 0.376 0.163

Residual Std. Error
F Statistic

0.866 (df =467)

0.790 (df = 479)
323677 (df = 5; 467) 42.846" " (df = 7; 479) 16.764™ (df = 6; 481)

0.915 (df = 481)

Note:

“p<0.1; p<0.05; “p<0.01









Dependent variable:

R

proxy

CG IR

(1) (2) (3)

AT

2

0.174

***

0.085

(0.051) (0.056)

Lat

0.303

***

(0.105)

Lat

2

-0.102

***

-0.076

***

-0.152

***

(0.030) (0.027) (0.037)

AAP

0.132

***

0.092

**

(0.043) (0.042)

AAP

2

0.165

***

0.070

***

(0.025) (0.023)

AAH

-0.160

***

0.284

**

(0.050) (0.110)

log(PD)

0.334

***

0.541

***

-0.123

***

(0.041) (0.037) (0.043)

log(PD

2

)

0.081

***

0.134

***

0.245

***

(0.026) (0.023) (0.027)

Constant

-0.145

**

-0.301

***

-0.177

***

(0.060) (0.060) (0.068)

Observations 473 487 488

R

2

0.257 0.385 0.173

Adjusted R

2

0.249 0.376 0.163

Residual Std. Error 0.866 (df = 467) 0.790 (df = 479) 0.915 (df = 481)

F Statistic

32.367

***

 (df = 5; 467)42.846

***

 (df = 7; 479)16.764

***

 (df = 6; 481)

Note:

*

p<0.1; 

**

p<0.05; 

***

p<0.01


image12.emf
Dependent variable:

o CG IR
(1) (2) (3)
AT* 0215
(0.061)
Lat 0263 0.173" 0.280"""
(0.109) (0.056) (0.078)
AAP 0.123"
(0.064)
AAP? 0.075" -0.063
(0.041) (0.041)
AAH 0.345™
(0.117)
AAH? 0.201**
(0.058)
Lar* 0.118" -0.155™
(0.040) (0.045)
log(PD) 0459 0.605°
(0.053) (0.048)
log(PD?) 0.052" 0.114" 0.157°*"
(0.031) (0.027) (0.031)
Constant 0.126" 02107 0.139"
(0.073) (0.070) (0.083)
Observations 301 306 307
R2 0.246 0.377 0.137
Adjusted R2 0.230 0.367 0.123

Residual Std. Error
F Statistic

0.877 (df = 294)

0.796 (df = 300)
159717 (df = 6; 294) 36374 (df = 5; 300) 9.595" " (df = 5; 301)

0.936 (df = 301)

Note:

“p<0.1; “p<0.05; 7 p<0.01









Dependent variable:

R

proxy

CG IR

(1) (2) (3)

AT

2

0.215

***

(0.061)

Lat

-0.263

**

0.173

***

0.280

***

(0.109) (0.056) (0.078)

AAP

0.123

*

(0.064)

AAP

2

0.075

*

-0.063

(0.041) (0.041)

AAH

-0.345

***

(0.117)

AAH

2

0.201

***

(0.058)

Lat

2

-0.118

***

-0.155

***

(0.040) (0.045)

log(PD)

0.459

***

0.605

***

(0.053) (0.048)

log(PD

2

)

0.052

*

0.114

***

0.157

***

(0.031) (0.027) (0.031)

Constant

-0.126

*

-0.210

***

-0.139

*

(0.073) (0.070) (0.083)

Observations 301 306 307

R

2

0.246 0.377 0.137

Adjusted R

2

0.230 0.367 0.123

Residual Std. Error 0.877 (df = 294) 0.796 (df = 300) 0.936 (df = 301)

F Statistic

15.971

***

 (df = 6; 294)36.374

***

 (df = 5; 300)9.595

***

 (df = 5; 301)

Note:

*

p<0.1; 

**

p<0.05; 

***

p<0.01
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image3.emf
Dependent variable:

CG
(D (2) 3) 4) &) (6) (7) ) ) (10)
AT 0.130" -0.144™
(0.045) (0.048)
AT? 0.039
(0.043)
Lat 0.109™ 0.114™
(0.045) (0.045)
Lat* 0.052™
(0.026)
AAP 02517 0.209™
(0.044) (0.042)
AAP® 0.203"**
(0.025)
AAH 0.097"" 0.117"
(0.045) (0.063)
AAH? 0.020
(0.045)
log(PD) 0.526""" 0.557"""
(0.039) (0.038)
log(PD?) 0.142*
(0.024)
Constant 0.000 -0.039 0.000 0.052 0.000 0.203"** 0.000 -0.020 0.000 0.1417%
(0.045) (0.062) (0.045) (0.052) (0.044) (0.048) (0.045) (0.064) (0.039) (0.044)
Observations 487 487 487 487 487 487 487 487 487 487
R2 0.017 0.019 0.012 0.020 0.063 0.176 0.009 0.010 0.276 0.325
Adjusted R 0.015 0.014 0.010 0.016 0.061 0.172 0.007 0.006 0.275 0.322
Residual Std. Error 0'932 5(§1f - 09321? - 0'932 gf B 0'9%5? - 0'932 5(§1f - 0.92(;4%& B 0932 5(§1f - 0'9%4%& T 0.852 (df = 485) 0.824 (df = 484)

F Statistic

8330 (df = 4.569™" (df= 5.820"" (df= 4.952""" (df = 32.683""" (df = 51.546

1; 485) 2; 484) 1; 485)

skeksk

2;484) 1; 485) 2; 484)

(df = 4.629™ (df =

1;485)

24117 (df = 185275

2;484)

Kok

1; 485)

df = 116325

Kok

(df =
2; 484)

Note:

“p<0.1; “p<0.05; “p<0.01









Dependent variable:

CG

(1) (2) (3) (4) (5) (6) (7) (8) (9) (10)

AT

-0.130

***

-0.144

***

(0.045) (0.048)

AT

2

0.039

(0.043)

Lat

0.109

**

0.114

**

(0.045) (0.045)

Lat

2

-0.052

**

(0.026)

AAP

0.251

***

0.209

***

(0.044) (0.042)

AAP

2

0.203

***

(0.025)

AAH

-0.097

**

-0.117

*

(0.045) (0.063)

AAH

2

0.020

(0.045)

log(PD)

0.526

***

0.557

***

(0.039) (0.038)

log(PD

2

)

0.142

***

(0.024)

Constant 0.000 -0.039 0.000 0.052 0.000

-0.203

***

0.000 -0.020 0.000

-0.141

***

(0.045) (0.062) (0.045) (0.052) (0.044) (0.048) (0.045) (0.064) (0.039) (0.044)

Observations 487 487 487 487 487 487 487 487 487 487

R

2

0.017 0.019 0.012 0.020 0.063 0.176 0.009 0.010 0.276 0.325

Adjusted R

2

0.015 0.014 0.010 0.016 0.061 0.172 0.007 0.006 0.275 0.322

Residual Std. Error

0.993 (df =

485)

0.993 (df =

484)

0.995 (df =

485)

0.992 (df =

484)

0.969 (df =

485)

0.910 (df =

484)

0.996 (df =

485)

0.997 (df =

484)

0.852 (df = 485) 0.824 (df = 484)

F Statistic

8.330

***

 (df =

1; 485)

4.569

**

 (df =

2; 484)

5.820

**

 (df =

1; 485)

4.952

***

 (df =

2; 484)

32.683

***

 (df =

1; 485)

51.546

***

 (df =

2; 484)

4.629

**

 (df =

1; 485)

2.411

*

 (df =

2; 484)

185.275

***

 (df =

1; 485)

116.325

***

 (df =

2; 484)

Note:

*

p<0.1; 

**

p<0.05; 

***

p<0.01


